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7 can be thought of as “the

ratio of 4 10 7

—_W
- g is a proportion read
W 10
"three is to frv six is to

ten.

3 and 10 are the exiremes.

5 and 6 are the Fiigang.
g6 -3 10

Fractions and decimals are
other ways of naming parts
of a whole.

2% = 21
100

=0.21

To solve:

Check;
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EFlatio.s, Proportions, and Percents

Ratio A means of comparing two numbers or quantities. A ratio can be written as
a fraction,

Proportion A statement that two ratios are equal.

Extremes The first and fourth terms of a proportion.

Means The second and third terms of a proportion.

The Proportlon Rule Ina true proportion, the product of the means is equal
to the product of the extremes.

Percent Another way of naming parts of a whole. Percent means per hundredths.

Solving Proportions for Unknown Values

To Solve a Proportion

1. Set the product of the means equal to the product of the extremes.

2. Divide both terms of the resulting equation by the coefficient of the unknown.

3. Use the value found to replace the unknown in the original proportion. Multi-
ply to check that the proportion is true.

Applying Pro-portions_ :

To Solve a Problem by Using Proportions

1. Read the problem carefully to determine the given information.

2. Write the proportion necessary to solve the problem, using a letter to repre-
sent the unknown quantity. Be sure to include the units in writing the propor-
tion.

3. Solve, answer the question of the original problem, and check the proportion
as before.

Converting Between Fractions,
Decimale, and Percents

S 1. To convert a percent to a [fraction, remove the percent symbol, and write the

number over 100.
BUmMoer over VU,

37% =037 —————— . 2. Tb convert a percent {0 a decimal, remove the percent symbol, and move the

decimal point two places to the left.
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058=38% = 3. To convert a decimal o a percent, move the dcmmal pr)mt two places to the
‘ right, and attach the percent symbol.

g = 0.80 = 80% €——————— 4. Ib convert a fraction to a percent, write the decimal equwalent of the frac-
% : tion, and then change that decimai to a percent. .
Percent Problems
Every percent problem has the following three parts: '
L. The base. This is_the whole in the problem. It is the standard used for com-
. e
parison. Label the base B.
45 is 30% of 150. 2. The @mpun® This is the part of the whole being comparad to the base. Labe]
T T T the amount &J
A R% B 3. The pate: This is the ratio of the amount to the base. The rate is written as a
_percent. Label the rate R%.
A=RAx B These quantities are related by the percent relationship, the equation

Amount = rate X base
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Solving Percent Problems

There are three types of percent problems.

¢ Finding the amount when the : rate and the base are known
. Pmdmﬂ the rate when the amount and the Dase are known_
. ;ndmg the base when the rate and the amount are known
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What is 12% of 5007 . ~Usi ercent Relationship 4 J‘,« .,((:‘)Q cﬂ\e
Amount = 0.12 X 500 158 _ [ 7

There are two methods for solving these problems.

= 60 Finding an Unknown Amount L
30 is what percent of 1507 1. Express the rate in decimal form. 2 b(vx twng™  a s <
30« A 2. Multiply the rate by the_base.
Rate = 285&
150 € B Finding an Unknown Rate lA , Q Z 5 Q
=02 1. Divide the amount by the base. )
= 20% 8 Convert the decimal to a percent. j i) D ,U %
48 is 30% of what rumbar? Finding an Unknown_Base_ . g_‘?_gf_\k__/ \ 9 e
- A 1. Convert the rate to a decimal. L, &
N 2. Divide the amount by the rate. KViowa § H'\‘ILD 21 fhew
Base = 48 + 0.30 = 160 '/fﬂﬁlﬁ‘ﬁw Using the P tp : o FF 'ﬁf\{ fweo
The percent proportion is =~ i
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What is 24% of 3007 To snive a percent problem using this proportion: % wd / re (\r-Q g
A 24 . Substitute the two known values _into the proportion. 4@ “(’b\ @
300 100 . Solve the proportion as before to find the unknown value. . < =
300 100 prop 2
100A = 7200 2Ne uan amw,g
-

A=72
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